DIvVISION AND MULTIPLYING BY 10s (H - seT 3)
DIVISION BY 1000

Name:

Time:

Score:

20824000 + 1000 =

22723000 = 1000 =

25227000 = 1000 =

20674000 = 1000 =

231000 = 1000 =

26596000 <+ 1000 =

2167000 + 1000 =

25562000 <+ 1000 =

298320000 == 1000 =

10 322000 = 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 3
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112000 =+ 1000 =

225000 = 1000 =

96000 =+ 1000 =

903000 - 1000 =

476000 = 1000 =

398000 - 1000 =

368000 = 1000 =

257000 =+ 1000 =

532000 -+ 1000 =

261000 = 1000 =
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